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Note :- (i) Attempt five questions in all, selecting at least

one question form each Section A, B, C and D.

Question No. 1 is compulsory.
•

(ii) For Private candidates, who have not been

assessed earlier for internal assessment, the marks

secured by them in the theory paper will be

proportionately be increased to the maximum

marks of the paper in lieu of internal assessment.
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(Compulsory Question)

1. Answer any nine of the following :

(i) Define the concept of Economic Development,

(ii) Define Vicious Circles of Poverty,

(iii) Explain Capital Formation,

(iv) Define Structural Unemployment.

(v) What is Capital Labour Ratio ?

(vi) Give two features of Lewis Model,

(vii) Define Social Dualism,

(viii) Explain Stationary State,

(ix) Define Market Failure.

(x) Explain Surplus Value,

(xi) What is meant by Entrepreneur ?

(xii) Explain the terms DPA and SOC. 9x2=18

Section-A

2. What is underdeveloped economy ? Describe in detail

its main features. 9,9

3. Critically explain the Nurkse's thesis of disguised
1 8unemployment. J °
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Section-B

4. Explain the Harrod's model of growth ? Is it

applicable in underdeveloped countries ? 9,9

5. Explain 'Technical Dualism' as proposed by Benjamin

Higgins. What are its major weaknesses ? 12,6

Section-C

6. Explain Nurkse's theory of Balanced Growth. 18

7. Critically examine the 'Critical Minimum Effort' thesis

as explained by Leibenstein for sustained economic

development in underdeveloped countries. 18

Section-D

8. Explain the term economic planning. Discuss in detail

the major problems of economic planning for a

developing economy. 6,12

9. Distinguish between labour intensive techniques and

capital intensive techniques. Give the arguments in

favour of labour intensive techniques. 8,10
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